Exercises

Exercise 3-1 (25 minutes)

	a.
	Depreciation Expense—Equipment

	18,000
	

	
	
Accumulated Depreciation—Equipment

	
	18,000

	
	
To record depreciation expense for the year.
	
	

	
	
	
	

	b.
	Insurance Expense

	4,900
	

	
	
Prepaid Insurance*

	
	4,900

	
	
To record insurance coverage that expired 

   ($6,000 - $1,100).
	
	

	
	
	
	

	c.
	Office Supplies Expense

	3,882
	

	
	
Office Supplies**

	
	3,882

	
	
To record office supplies used ($700 + $3,480 - $298).
	
	

	
	
	
	

	d.
	Unearned Fee Revenue

	10,000
	

	
	
Fee Revenue

	
	10,000

	
	
To record earned portion of fee received in advance

   ($15,000 x 2/3).
	
	

	
	
	
	

	e.
	Insurance Expense

	5,800
	

	
	
Prepaid Insurance

	
	5,800

	
	
To record insurance coverage that expired.


	
	

	f.
	Wages Expense

	3,200
	

	
	
Wages Payable

	
	3,200

	
	
To record wages accrued but not yet paid.
	
	

	
	
	
	


Notes
	Prepaid Insurance*
	
	Office Supplies**

	Bal. Bal.
	6,000
	
	
	
	Beg. Bal.
	700
	
	

	
	
	
	
	
	Purchase
	3,480
	
	

	
	
	?
	Used
	
	
	
	?
	Used

	End. Bal.
	1,100
	
	
	
	End. Bal.
	298
	
	


Exercise 3-2 (30 minutes)

	a.
	Unearned Fee Revenue

	5,000
	

	
	
Fee Revenue

	
	5,000

	
	
To record earned portion of fee received in advance  ($15,000 x 1/3).
	
	

	
	
	
	

	b.
	Wages Expense

	8,000
	

	
	
Wages Payable

	
	8,000

	
	
To record wages accrued but not yet paid.
	
	

	
	
	
	

	c.
	Depreciation Expense—Equipment

	18,531
	

	
	
Accumulated Depreciation—Equipment

	
	18,531

	
	
To record depreciation expense for the year.
	
	

	
	
	
	

	d.
	Office Supplies Expense

	4,992
	

	
	
Office Supplies**

	
	4,992

	
	
To record office supplies used ($240 + $5,239 - $487).
	
	

	
	
	
	

	e.
	Insurance Expense

	2,800
	

	
	
Prepaid Insurance*

	
	2,800

	
	
To record insurance coverage expired ($4,000 - $1,200).
	
	

	
	
	
	

	f.  
	Interest Receivable

	1,000
	

	
	     Interest Revenue

	
	1,000

	
	  To record interest earned but not yet received.
	
	

	
	
	
	

	g.
	Interest Expense

	2,500
	

	
	    Interest Payable

	
	2,500

	
	 To record interest incurred but not yet paid.
	
	


Notes
	Prepaid Insurance*
	
	Office Supplies**

	Beg. Bal.
	4,000
	
	
	
	Beg. Bal.
	240
	
	

	
	
	
	
	
	Purchase
	5,239
	
	

	
	
	?
	Used
	
	
	
	?
	Used

	End. Bal.
	1,200
	
	
	
	End. Bal.
	487
	
	


 Exercise 3-3 (20 minutes)

a. Adjusting entry
2008
	Dec. 31
	Wages Expense

	1,250
	

	
	
Wages Payable

	
	1,250

	
	
To record accrued wages for one day
   (5 workers x $250).
	
	

	
	
	
	

	b. Payday entry

	
	
	
	

	2009
	
	
	

	Jan. 4
	Wages Expense

	3,750
	

	
	Wages Payable

	1,250
	

	
	
Cash

	
	5,000

	
	
To record accrued and current wages

Wages expense = 5 workers x 3 days x $250


Cash = 5 workers x 4 days x $250.
	
	


Exercise 3-4 (25 minutes)

a.

Apr. 30
Legal Fees Expense

3,500



Legal Fees Payable


3,500


To record accrued legal fees.

May 12
Legal Fees Payable

3,500



Cash


3,500


To pay accrued legal fees.

b.

Apr. 30
Interest Expense

2,667


Interest Payable


2,667

To record accrued interest expense.
May 20 
Interest Payable

2,667

Interest Expense

5,333


Cash


8,000

To record payment of accrued and current interest expense ($8,000 – 2,667).

Exercise 3-4 (concluded)

c.

Apr. 30
Salaries Expense

4,000



Salaries Payable


4,000


To record accrued salaries ($10,000 x 2/5 week).

May  3 
Salaries Payable

4,000


Salaries Expense

    6,000


Cash


10,000


To record payment of accrued and current salaries ($10,000 x 3/5 week).

Exercise 3-5 (20 minutes)

	Balance Sheet Insurance Asset using
	
	Insurance Expense using

	
	Accrual Basis*
	
	Cash 
Basis
	
	
	Accrual Basis**
	
	Cash 
Basis

	Dec. 31, 2006

	$13,000 
	
	$ 0 
	
	2006

	$  5,000 
	
	$18,000 

	Dec. 31, 2007

	7,000 
	
	0 
	
	2007

	6,000 
	
	0 

	Dec. 31, 2008

	1,000 
	
	0 
	
	2008

	 6,000
	
	0 

	Dec. 31, 2009

	0 
	
	0 
	
	2009

	    1,000 
	
	           0 

	
	
	
	
	
	Total

	$18,000 
	
	$18,000 


EXPLANATIONS
*Accrual asset balance equals months left in the policy x $500 per month (monthly cost is computed as $18,000 / 36 months).


Months Left
Balance

12/31/2006

26
$13,000

12/31/2007

14
7,000 

12/31/2008

2
1,000 

12/31/2009

0
0

**Accrual insurance expense equals months covered in the year x $500 per month.

	
	Months Covered
	
	Expense

	2006

	10
	
	 $  5,000

	2007

	12
	
	6,000

	2008

	12
	
	6,000

	2009

	2
	
	    1,000

	
	
	
	$18,000


Exercise 3-6 (30 minutes)

1.

 2008
 Dec. 31  Services Revenue 

44,000



Income Summary 

 44,000


To close the revenue account.

          31  Income Summary 

33,100



Depreciation Expense--Equipment

3,000



Salaries Expense 

22,000



Insurance Expense 

2,500



Rent Expense 

3,400



Supplies Expense 

2,200


To close the expense accounts.

          31  Income Summary

 10,900



Retained Earnings

 10,900


To close Income Summary.

          31  Retained Earnings

7,000



Dividends 

7,000


To close the dividends account.

2.

CRUZ company

Post-Closing Trial Balance

December 31, 2008

Debit
Credit

Cash

$19,000 


Supplies

13,000 


Prepaid insurance

3,000

Equipment

24,000

Accumulated depreciation–Equipment


$  7,500

Common stock


30,000

Retained earnings*

             
  21,500 

Totals

$59,000 
$59,000
 *$17,600 + $10,900 - $7,000 = $21,500

Exercise 3-7 (20 minutes)

WILSON Trucking CoMPANY

Income Statement

For Year Ended December 31, 2008
Trucking fees earned


$130,000 

Expenses


Depreciation expense—Trucks

$23,500


Salaries expense

61,000


Office supplies expense

8,000


Repairs expense—Trucks

 12,000



Total expenses


  104,500 

Net income


$  25,500
WILSON Trucking CoMPANY

Statement of Retained Earnings

For Year Ended December 31, 2008
Retained earnings, December 31, 2007

$  75,000

Plus: Net income

   25,500

100,500

Less: Dividends

  (20,000) 

Retained earnings, December 31, 2008

$  80,500 

Exercise 3-8 (20 minutes)

WILSON Trucking CoMPANY

Balance Sheet

December 31, 2008


Assets

Current assets

  Cash


$    8,000 

  Accounts receivable


17,500 

  Office supplies


      3,000 

  Total current assets


28,500 

Plant assets

  Trucks

$172,000

  Accumulated depreciation-Trucks

  (36,000)
136,000 

  Land


    85,000 

  Total plant assets


  221,000 

Total assets


$249,500 


Liabilities

Current liabilities

  Accounts payable


$  12,000 

  Interest payable


      4,000 

  Total current liabilities


16,000 

Long-term notes payable


    53,000 

Total liabilities


69,000 


Equity

Common stock


100,000 

Retained earnings*


    80,500 

Total liabilities and equity


$249,500 

*From Exercise 3-7
Exercise 3-9 (10 minutes)
Note: Net income and revenues are from Exercise 3-7

Profit margin = $25,500 / $130,000 = 19.6%
Interpretation: Wilson Trucking Company’s profit margin exceeds the industry average of 15%, so they are performing better than competitors on this dimension.  Wilson’s profit margin implies that they earn 19.6 cents for each dollar of sales recorded compared to the industry average of only 15 cents for each dollar of sales recorded.

Exercise 3-10 (15 minutes)

Note: Current asset and current liability totals are from Exercise 3-8


Current ratio = 



      =


 = 1.78

Interpretation:  The company’s current ratio of 1.78 exceeds the industry average of 1.5.  This ratio implies that the company is in a slightly better liquidity position than its competitors.  Moreover, if we review the makeup of the current ratio, we see that current assets consist primarily of cash and accounts receivable.  The existence of these more liquid assets is a positive attribute for liquidity purposes.

Exercise 3-11 (10 minutes)

a.
$    4,390 
/
$     44,830 

=   9.8%

b.
$  97,644 
/
$   398,954 

= 24.5%

c.
$111,385 
/
$   257,082 

= 43.3%

d.
$  65,234 
/
$1,458,999

=   4.5%

e.
$  80,158
 /
$   435,925 

= 18.4%

Analysis and Interpretation:  Company c has the highest profitability according to the profit margin ratio.  Company c’s profit margin indicates that it earns 43.3 cents in net income for each one dollar of net sales recorded.

Exercise 3-12 (15 minutes)

	
	Current
Assets
	
	Current 
Liabilities
	
	Current 
Ratio

	Case 1
	$ 79,000
	/
	$  32,000
	=
	2.47

	Case 2
	105,000
	/
	76,000
	=
	1.38

	Case 3
	45,000
	/
	49,000
	=
	0.92

	Case 4
	85,500
	/
	81,600
	=
	1.05

	Case 5
	61,000
	/
	100,000
	=
	0.61


Analysis:  Company 1 is in the strongest liquidity position.  It has about $2.47 of current assets for each $1 of current liabilities.  The only potential concern for Company 1 is that it may be carrying too much in current assets that could be better spent on more productive assets (note that its remaining competitors’ current ratios range from 1.39 to 0.61).

Exercise 3-13A (25 minutes)

a.
Initial credit recorded in the Unearned Fees account:
July  1
Cash


3,000



Unearned Fees



3,000


Received fees for work to be done for Solana.


6
Cash


7,500




Unearned Fees



7,500



Received fees for work to be done for Haru.


12
Unearned Fees


3,000




Fees Earned



3,000



Completed work for Solana.


18
Cash


8,500




Unearned Fees



8,500



Received fees for work to be done for Jordan.


27
Unearned Fees


7,500



Fees Earned



7,500



Completed work for customer Haru.


31
No adjusting entries required.

Exercise 3-13A –continued

b.
Initial credit recorded in the Fees Earned account:
July  1

Cash


3,000




Fees Earned



3,000



Received fees for work to be done for Solana.


6
Cash


7,500



Fees Earned



7,500



Received fees for work to be done for Haru.


12
No entry required.


18
Cash


8,500




Fees Earned



8,500



Received fees for work to be done for Jordan.


27
No entry required.

       31  
Fees Earned


8,500




Unearned Fees



8,500


Adjusted to reflect unearned fees for unfinished job for Jordan.

c.  Under the first method (and using entries from a)

Unearned Fees = $3,000 + $7,500 - $3,000 + $8,500 - $7,500 = $8,500
Fees Earned = $3,000 + $7,500 = $10,500
Under the second method (and using entries from b)
Unearned Fees = $8,500
Fees Earned = $3,000 + $7,500 + $8,500 - $8,500 = $10,500

[Note: Both procedures yield identical results in the financial statements.]
Exercise 3-14A (30 minutes)

a.

Dec.  1
Supplies Expense

2,000



Cash


2,000


Purchased supplies.
b.

Dec.  2
Insurance Expense

1,540



Cash


1,540


Paid insurance premiums.
c.

Dec. 15
Cash

13,000



Remodeling Fees Earned


13,000


Received fees for work to be done.
d.

Dec. 28
Cash

3,700



Remodeling Fees Earned


3,700


Received fees for work to be done.
e.

Dec. 31
Supplies

1,840



Supplies Expense


1,840


Adjust expenses for unused supplies.
f.

Dec. 31
Prepaid Insurance ($1,540 - $340)

1,200



Insurance Expense


1,200


Adjust expenses for unexpired coverage.
g.

Dec. 31
Remodeling Fees Earned 

11,130



Unearned Remodeling Fees


11,130

Adjusted revenues for unfinished projects ($13,000 + 3,700 - $5,570).
Exercise 3-15B (30 minutes)  Part 1.
	DYLAN DELIVERY COMPANY

Work Sheet

For Year Ended December 31, 2008

	
	
	Unadjusted
Trial Balance
	
Adjustments
	Adjusted
Trial Balance
	Income
Statement
	Balance Sheet 

	Account Title
	Dr.
	Cr.
	Dr.
	Cr.
	Dr.
	Cr.
	Dr.
	Cr.
	Dr.
	Cr.

	Cash

	16,000
	
	
	
	
	
	16,000
	
	
	
	16,000
	

	Accounts receivable

	34,000
	
	
	
	
	
	34,000
	
	
	
	34,000
	

	Office supplies

	5,000
	
	
	
	(c)
	3,000
	2,000
	
	
	
	2,000
	

	Trucks

	350,000
	
	
	
	
	
	350,000
	
	
	
	350,000
	

	Accum. depreciation—Trucks

	
	80,000
	
	
	(a)
	40,000
	
	120,000
	
	
	
	120,000

	Land

	160,000
	
	
	
	
	
	160,000
	
	
	
	160,000
	

	Accounts payable

	
	24,000
	
	
	
	
	
	24,000
	
	
	
	24,000

	Interest payable

	
	5,000
	
	
	(b)
	1,000
	
	6,000
	
	
	
	6,000

	Long-term notes payable

	
	100,000
	
	
	
	
	
	100,000
	
	
	
	100,000

	Common stock

	
	105,000
	
	
	
	
	
	105,000
	
	
	
	105,000

	Retained earnings

	
	202,000
	
	
	
	
	
	202,000
	
	
	
	202,000

	Dividends

	34,000
	
	
	
	
	
	34,000
	
	
	
	34,000
	

	Delivery fees earned

	
	263,000
	
	
	
	
	
	263,000
	
	263,000
	
	

	Depreciation expense—Trucks

	40,000
	
	(a)
	40,000
	
	
	80,000
	
	80,000
	
	
	

	Salaries expense

	110,000
	
	
	
	
	
	110,000
	
	110,000
	
	
	

	Office supplies expense

	15,000
	
	(c)
	3,000
	
	
	18,000
	
	18,000
	
	
	

	Interest expense

	5,000
	
	(b)
	1,000
	
	
	6,000
	
	6,000
	
	
	

	Repairs expense—Trucks

	 10,000
	______
	
	_____
	
	_____
	  10,000
	______
	 10,000
	______
	______
	______

	Totals

	779,000
	779,000
	
	44,000
	
	44,000
	820,000
	820,000
	224,000
	263,000
	596,000
	557,000

	Net income

	
	
	
	
	
	
	
	
	  39,000
	______
	______
	  39,000

	Totals

	
	
	
	
	
	
	
	
	263,000
	256,000
	596,000
	596,000




Exercise 3-15B (Continued)

2.
Closing entries
   
Delivery Fees Earned

263,000



Income Summary


263,000



To close the revenue accounts.

   
Income Summary

224,000



Depreciation Expense—Trucks


80,000



Salaries Expense


110,000



Office Supplies Expense


18,000



Interest Expense


6,000 



Repairs Expense—Trucks


10,000 



To close the expense accounts.

   
Income Summary

39,000



Retained Earnings


39,000



To close Income Summary.

          
Retained Earnings
     34,000



Dividends 

34,000


To close the dividends account.

Retained Earnings on the balance sheet
Retained earnings, beginning balance
 
$202,000

Add:  Net income

    39,000


  241,000

Less: Dividends
         
   (34,000)

Retained earnings, ending balance

$207,000
Exercise 3-16C (30 minutes)

1.
Adjusting entries
 Oct. 31
Rent Expense

2,800



Rent Payable


2,800


To record accrued rent expense.

         31
Rent Receivable

850



Rent Earned


850


To record accrued rent income.

2.
Subsequent entries without reversing entries
 Nov. 5
Rent Payable

2,800

Rent Expense

2,800



Cash


5,600


To record payment of 2 months’ rent.

          8
Cash

1,700



Rent Receivable


850



Rent Earned


850


To record collection of 2 months’ rent.

3.
Subsequent entries with reversing entries
 Nov. 1
Rent Payable

2,800



Rent Expense


2,800


To reverse accrual of rent expense.

          1
Rent Earned

850



Rent Receivable


850


To reverse accrual of rent income.

          5
Rent Expense

5,600



Cash


5,600


To record payment of 2 months’ rent.

          8
Cash

1,700



Rent Earned


1,700


To record collection of 2 months’ rent.

Exercise 3-17C (10 minutes)

Reversing entries are appropriate for accounting adjustments (a) and (e)
 Sept. 1
Service Fees Earned

6,000



Accounts Receivable

6,000


To reverse accrued revenues.

           1
Salaries Payable

3,400



Salaries Expense

3,400


To reverse accrued salaries.

Current assets


Current liabilities





$28,500


$16,000
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